Lecture 5

Tuesday, May 7, 2024 8:50 AM

bv\z; and ?(0‘" as

One can descobe a f[aM using S ponts on the /:[qwa, This netod requices 3 dala.

an we descnbe a p,cw tlitng legs Aot 7
S‘u\fﬁfok we knaw a Fumi A o tla }0141-«2 and a
W\/\

A M noomed vecre of The pave. Al pots M on the }p/Qk_g_

poesl setispy AL n . T ofles wnnls,
Al -n= 0
4 Al ad ne (@ibic) ond M) The
G- %o 9-90, 2 1) (ad9) = 0
Eguivglently,
La(x*u\ +5(y-g) +c-w)= O

f\l’t‘ln‘*ﬁ\ccj) an -f-%.s + (2 = anpt l«,ﬁ X
u_———-z/\_/

Nie thal we codd have hagen n B ke o ceurd -Qe\\j{l—u Thw, we w-éj heeof
£ lonow a»L;O( Cg aPa’lA) b apc(-c’/m:u o r{m«.e Th s -(2\2 Coarl Gwaount of At

we naed 4 difpa o p[au.
E_’;' (M _[Le etluq_‘bﬂ\ b,g 4G ({am passizg '{Lm,‘ﬁ[, A(HL ) Gudd /%f{l-ekp’/CsI‘r
-,'lb -(Lw_ \MZ‘(\N n = (1“\ D-

e fod the equatim g o plae passig dbrogh  A(),2,-1), B(23,3), C (20, 0.
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To desenbe = Pre , we rneed a ,om‘\f m th b oud a direhim weds

@ A(lg.j‘l’bx . a= (a1, %)

—
/N/ Abj WV] Mbiyz) o tle Pire Saﬁr{m AE//Q

KF"*- ta robere 1 €R (scaling fuchr)

@w%. Y=ger T ) = t(a)16, 6,)

W= Aot Ty

% - Qo +{<1

f"‘ K=o Y-t _ )
N a T Tal &g
W

_(‘UMMC_‘M'C, .eju.q'hm

—

En gwol the  paramndie e andl Sy e of the L passity
{Lm{\l» A(17,8) and f’e’Pe‘*’{"C“l"V 1 he plave  x-y= <.
Ea ,fm.J {L cq o;r (L ,exkg pesig ’H\(‘mj( Alhal) avol E(2) 1),

x= ¢
En Cuul L < of . f[cwa coularning 1o Poe v@:f,;_;_;. <wd passiag

=

a« fbkjL A(,’ZI‘S)'

&uaolﬂ'( 9—'%’*‘”’

At 4 Byt (U + D 4 Eqz+ Fom st Gnt Hy Te=]
S;ucmf cakes
Ellcpsod i AX+Bg+ @*= T ol B8, (>0
Daenblond - P By T2=] wH oa8>0

Propebobued : At BaetTe=T il Ado,Rco or ASO B>
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